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+ Accounting [--Review problems for ACC101 exam

‘ ) # OnJune 5 the shopping newspaper agrees to run ads for for the ABC Co. for every
-~ V}ka{\ ~-Wweek during the month o i@‘, 32,000. ABC Co. pays the shopping netv'éfﬁﬁe\r/

$1,000 on June 5 and the remm&inder on August 5. Assuming the shopping newspaper

\(UJMM uses the accrual basis of accounting, it should recognize this $2,000 reveniic in:”

> JUNE, JULY, AUGUST, HALF IN JUNE; HALF IN AUGUST? \T

Y

TLClean began providing cleaning service for the XYZ Corp on June 15 for an
agreed monthly fee of $1,200. First payment is to be received on July 15, The
adjusting entry reequired by TLClean on June 30 is:

Clewn ﬁes e - (o0 ] ’/L Me - |
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A Corporation has assets of $180,000, liabilities of $50,000 and capital stock of
S10(000. What is in the retained earnings account?

A= L+ o Gt stock 100,002
15000 = Spom + [BOo0O 7 Telameo EmAn

Lasting Memories Gift Shop purchased graduation cards at an invoice price of $500--
- terms 2/10, n/30. Half the cards had inferior printing and were returned. If Lasting
0 _) : Memories Gifts pays the invoiceA with the discount period, the amount paid will be;
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Endiffg ifwentory of Lowe's is $50,000, beginnin;; mventory $80,000 and Cost of the

Q&W% Goods available for sale $110,000. What is the COGS? g 0) 000 | m o
Bequnv. Puch=CopA- gerd (w = COGS ¥ 30,000 Puschars| s
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> Beg, Inv. S0units @510 $50000, @ — Obeet o

> Apr.3 0units @ 1010 303.00 T

> May3 40 units @ 1020  408.00 i asoas CE;\\
~ June 16 S0units@ 1030  515.00 :

Ending inventory is 100 units. What is the COGS if FIFO is used?
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Ending inventory is 100 units. What is the COGS if LIFO is used?
5¢ axr |ozo =515 14
‘ . 20 at |v-207 A4 Xd
\) . 3. Ending inventory is 100 units, What is the COGS if average- cost method is used?
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